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1 [HIR & ZTERDFEE]
ROFEZ LT, (1%6)

(1) 5x(2x +y)

10x2 + 5xy

i &

(3) 2x(3x —y + 2)

6x% — 2xy + 4x

(5) (—%m + n) x 12m

—4m? + 12mn

2 [HIER & ZIERDIRE]
ROFHEEZ L7 Xy, (1ix6)

(1) (a®>+7a) ~a

a+7

(3) (2ap +5bp) =~ 2P

12a + 30b

(5) (—=21x3 + 14x2 — 42x) + (=7x)

3x2-2x+6

(2) (—a —4b) x (=7¢)

7ac + 28bc

(4) (x + 2y +5) x (—3x2)

—3x3 — 6x2y — 15x2

0 (Bas30-3)x2a

! 24 3ab >
2a a 9(1

(2) (9x2%y —12xy?) =+ 3x

3xy — 4y?

4) (6x?%y —8xy?) + (—%xy)

—-9x+ 12y

(6) (%azb —%ab2 +%ab) +%ab

3a—4b+5
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1 [HIF &2 AR DMAI]
ROFEZE LRI\, (14x10)

(1) 3x(2x — y) + 4x(x + 5y)

10x2 + 17xy

i &

(3) 3a(a—3b) —a(7a + b)

—4a% — 10ab

(5) 8a(%a+2b)—9a(a—%b)

—3a? + 19ab

2 2 2_rta2
(7) x +23y + 4x 35y

11x?% — y?
6

2 2
() 2x 3y+4 + 5x +42y 6

23x%2+2y—2

12

(2) 2x(4x —3) + 6x(x — 5)

14x% — 36x

4) 5x(2x —y) — (9x%y — 12xy?) + (—=3y)

13x% — 9xy

6) %(—Zm +8) + %(3m —5)

—a’+7b
10

10) 3m(m—-5n)  m(2m+n)

5m? —47mn
12
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1 (ZIERDREE]
ROFEZ LT, (1%6)

(1) (a+x)(b+y)

ab + ay + bx + xy

(3) (x? = ¥y)(x +3y%)

x3 + 3x%y? —xy — 3y3

B) (x+y—2)(x+5)

x*+3x+xy+5y—10

2 [(x + a)(x + b))
ROETHEZ LR E W, (114%6)

(1) (x+1D(x+3)

x2+4x+3

(3) (a+8)(a-2)

a’+6a—-16

(5) (x+3)(x +0.4)

x2+3.4x+1.2

(2) (x —3a)(y — 2a)

xy — 2ax — 3ay + 6a?

(4) (m—0.4)(2m —0.5)

2m? —1.3m+0.2

(6) (a®> —4)(3a%> —2a—-1)

3a* —2a® - 13a? +8a+4

2) y-3)y-5)

y* -8y +15
4) (t=3)(t+9)
t? + 6t—27
1 1
(6) (x+7)(x+5)
YT 78
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1 [(x + a)?, (x — a)?BY]
ROFHEE LR &\, (141%6)

(1) (x + 4)2 (2) (a+ 2b)?
x2+8x+16 a? + 4ab + 4b?
112 )
3 (x+7) @ (x-5)
, 1 1
X toxt+qe x% —10x + 25
2 2 2
(5) (2p - q) © (a-3)
, 4 4
4p® — 4pq + q? T
2 [(x +a)(x — a)B]
ROEFHEZ LR E W, (114%6)
(1) (x+8)(x—18) (2) (a+11)(a—11)
x% — 64 a’?—-121
(3) (2x +3)(2x —3) (4) (4m —5)(4m +5)
4x%2 -9 16m? — 25
1 1 2 1.2 1
(6) (x+z)x—%) 6) (7x—7)(Fx+7)
1 4 1
2 _ a2
* 736 29* 16
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ROFHEZ LRI 0, (x4
(1) (a=3)(a+7)—(a+5)? (2) 3(x—4)2+(x+1D(x—-1)
—6a — 46 4x% — 24x + 47

(3) 5(m+3)(m—-3) - Bm+1)(3m —4)

—4m? +9m — 41

(4) 2(5x — 2)(5x + 4) — 8 (x - % )2

42x% +28x — 18

2 {Eﬁf&ﬂm?‘%ﬁﬁl
ROFFHEZ LR E v, 1%

(1) (x— 2y —5)2 2) (x—y+8)(x+y—8)

x% +4y* + 25 — 4xy — 10x + 20y x> —y?+ 16y — 64

B) (x+y+2)(x+y+3)—(x+y+5)x+y)

4) Qa+b—-c)+(@+b—-c)a—b+c)

5a% + 4ab — 4ca
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